Installation Instructions
74 H W E

Application & H 5 %Y

SKODA FABIA "14-

Components A & il 1k

D Sway bar FHERIZE ..., 1pcs
(@ Bracket-RH ZZ2-F.....oeeeevenenennnnss 1pcs
@ Bracket-LH 322270 1pcs
(@ Bolt #B44 (M10x1.25%30)......cooorveerrerreenn. 4pcs
(® Nut 2218 (M10X1.25-14X9)...coooeeeeereeeeeneen. 4pcs
®Bolt $Z44 (M8X1.25%20)..........covvveeeeerrererrrrreee 6pcs
(D Nut 218 (M8X1.25-13X8)....cevvvceeeereeereernnn. 6pcs
Washer ZET] (16X8.4X1.4) oo, 12pcs

Caution = 1H

eInstallation is recommended to be performed by licensed mechanics with necessary tools
to ensure safety. Incorrect installation may cause injury, damage to the product or vehicle.
ZERBZZAGHENORMETERNTURRZE - ZRERUEHAS  ERRERENESE -

«Note the routing of wires and cables before installation, or please refer to factory manual.
ZERABELR MEBNZREERMIBNERS RELE - BRBRBASEREFM -

Tighten bolts and nuts frimly by using handtools, and with specified torque if mentioned.
ZRBEFEEAFH T ERBHRBERBS - NAERBIEREFEKERRBE TR LK -

Instructions Z¢ % i B

AXLE BEAM

BRACKET

REAR ADD-ON SWAY BAR
BIMNEIFHIER, 17mm
#Q0565

1. Remove rear shock absorber lower mounting bolts.
REBED NnEEEAE T -

2. Install the brackets to lower spring seats using
supplied M10 bolts, nuts and washers.
FERMHEM10884% ~ IRIERES] - BMAIXREEETES
EE -

\H]|

3. Reinstall the rear shock absorber mounting bolts.
15 18R B R Bl E IR A4 35 [E] -

4. Install the sway bar to the brackets using supplied
M8 bolts and nuts.
ERAM MR 44 RIRIE - i IER LR EMAIX

%
:

[

¥ |lIstration of installed state ZZETH R



